

14/01/2026

$$f'(x) = f(x) \quad \forall x \in \Delta \implies \exists c \in \mathbb{R} : f(x) = ce^x. \quad \Delta \text{ και } \text{Χρησιμοποιώ} \\ \text{Εξώηχο!}$$

1.59 |

$$f: (0, +\infty) \rightarrow \mathbb{R}, \quad f\left(\frac{1}{2}\right) = 2\sqrt{e}$$

$$xf'(x) = (x-1)f(x) \quad \forall x > 0$$

α) τύπος της  $f$

$$\forall x > 0 : xf'(x) = (x-1)f(x) \implies$$

$$xf'(x) = xf(x) - f(x) \implies$$

$$xf'(x) + f(x) = xf(x) \implies$$

$$[xf(x)]' = xf(x) \implies$$

$$[xf(x)]' - xf(x) = 0 \implies$$

$$[xf(x)]'e^{-x} - xf(x)e^{-x} = 0 \implies$$

$$[xf(x)]'e^{-x} + xf(x)(e^{-x})' = 0 \implies$$

$$(xf(x)e^{-x})' = 0$$

$$\text{άρα από θεωρήματα } \exists c \in \mathbb{R} : \frac{xf(x)}{e^x} = c \implies xf(x) = ce^x$$

$$\text{Για } x = \frac{1}{2} : \frac{1}{2}f\left(\frac{1}{2}\right) = c\sqrt{e} \implies \frac{1}{2} \cdot 2\sqrt{e} = c\sqrt{e} \implies c = 1,$$

$$\text{άρα } \forall x > 0 : xf(x) = e^x \implies f(x) = \frac{e^x}{x}.$$

$$\beta) f'(x) = \frac{e^x \cdot x - e^x}{x^2} = \frac{e^x}{x} - \frac{e^x}{x^2}, \quad x > 0$$

$$f''(x) = \frac{e^x \cdot x - e^x}{x^2} - \frac{e^x \cdot x^2 - e^x \cdot 2x}{x^4} =$$

$$= \frac{e^x \cdot x - e^x}{x^2} - \frac{e^x \cdot x - e^x \cdot 2}{x^3} =$$

$$= \frac{e^x \cdot x^2 - e^x \cdot x - e^x \cdot x + 2e^x}{x^3} = \frac{e^x(x^2 - 2x + 2)}{x^3}$$

$$\lim_{x \rightarrow +\infty} \frac{f''(x)}{f'(x)} = \lim_{x \rightarrow +\infty} \frac{\frac{e^x(x^2-2x+2)}{x^3}}{\frac{e^x(x-1)}{x^2}} = \lim_{x \rightarrow +\infty} \frac{x^2-2x+2}{x^2-x} = \dots = 1$$

1.64

$$f''(x) = f(x) \quad \forall x \in \mathbb{R}$$

$$\text{Εφαρ. Cf στο } A(0, f(0)): y = 3x - 1$$

$$a) f(0), f'(0) = ?$$

$$A(0, f(0)): y - f(0) = f'(0)(x - 0) \Rightarrow y - f(0) = f'(0) \cdot x \Rightarrow y = f'(0) \cdot x + f(0)$$

$$\text{Αρα ισχύει } \begin{cases} f'(0) = 3 \\ f(0) = -1 \end{cases}$$

β) τώνας της  $f$

$$\forall x \in \mathbb{R}: f''(x) = f(x) \Rightarrow$$

$$f''(x) + f'(x) = f'(x) + f(x) \Rightarrow$$

$$[f'(x) + f(x)]' = f'(x) + f(x) \Rightarrow$$

$$[f'(x) + f(x)]' - (f'(x) + f(x)) = 0 \Rightarrow$$

$$[f'(x) + f(x)]e^{-x} - (f'(x) + f(x))e^{-x} = 0 \Rightarrow$$

$$[(f'(x) + f(x))e^{-x}]' = 0 \quad \text{αρα από θεωρημα}$$

$$\exists c_1 \in \mathbb{R}: \frac{f'(x) + f(x)}{e^x} = c_1 \Rightarrow f'(x) + f(x) = c_1 e^x$$

$$\Gamma_{\alpha} x=0: f'(0) + f(0) = c_1 \Rightarrow c_1 = 2, \text{ αρα}$$

$$\forall x \in \mathbb{R}: f'(x) + f(x) = 2e^x \Rightarrow$$

$$f'(x)e^x + f(x)e^x = 2e^{2x} \Rightarrow$$

$$[e^x f(x)]' = [e^{2x}]' \quad \text{αρα από θεωρημα}$$

$$\exists c_2 \in \mathbb{R}: e^x f(x) = e^{2x} + c_2 \quad \forall x \in \mathbb{R}$$

$$\Gamma_{\alpha} x=0: f(0) = 1 + c_2 \Rightarrow c_2 = -2$$

$$\text{αρα } \forall x \in \mathbb{R}: e^x f(x) = e^{2x} - 2 \Rightarrow f(x) = e^x - \frac{2}{e^x}$$

$$8) f(\mathbb{R}) = ?$$

$$f' > 0 \quad \forall x \in \Delta \implies f: \uparrow \Delta$$

$$f' < 0 \quad \forall x \in \Delta \implies f: \downarrow \Delta$$

$$f'(x) = \left( e^x - \frac{2}{e^x} \right)' = (e^x - 2e^{-x})' = e^x + 2e^{-x} > 0 \quad \forall x \in \mathbb{R}$$

ápó  $f: \uparrow \mathbb{R}$  óρα  $f(\mathbb{R}) = \left( \lim_{x \rightarrow -\infty} f(x), \lim_{x \rightarrow +\infty} f(x) \right) = (-\infty, +\infty) = \mathbb{R}.$